1 Corinthians 12:16




- is the simple connective use of the conjunction KAI, meaning “and” with the third class conditional particle EAN, meaning “if and it may or may not be true.”  With this we have the nominative subject from the neuter singular article and noun OUS, meaning “the ear.”  Then we have the third person singular aorist active subjunctive from the verb EIPON, which means “to say, speak.”


The aorist tense is a constative aorist, which looks at the action of speaking in its entirety and regards it as a simple fact.


The active voice indicates that the ear produces the action of speaking.


The subjunctive mood is used with EAN in a protasis of a third class condition to express probable future condition.  This is what will probably happen during the Church Age by some believer with a less than spectacular spiritual gift.

“And if the ear should say,”
- is the causal use of the conjunction HOTI, meaning “Because” plus the negative adverb OUK, meaning “not” with the first person singular present active indicative from the verb EIMI, meaning “I am.”


The present tense is a static present for a condition that perpetually exists.


The active voice indicates that the ear produces the action of not being a hand.


The indicative mood is declarative for a simple statement of fact.

Then we have the predicate nominative from the masculine singular noun OPHTHALMOS, meaning “an eye.”
“‘Because I am not an eye,’”

- is the negative adverb OUK, meaning “not” with the first person singular present active indicative from the verb EIMI, meaning “I am.”


The present tense is an aoristic present for a statement of fact without reference to its progress.


The active voice indicates that the ear produces the action of not being an eye.


The indicative mood is declarative for a simple statement of fact.

Then we have the preposition EK plus the partitive ablative from the neuter singular article and noun SWMA, which means “a part of the body.”  If a word in the ablative (SWMA) indicates the whole of which the word it modifies is a part, it is a partitive ablative.

“‘I am not a part of the body,’”
 - is the negative adverb OU, meaning “not” with the preposition PARA plus the accusative of cause from the neuter singular demonstrative pronoun HOUTOS, meaning “because of this (double negative as a strengthened affirmative) not for that reason any the less 1 Cor 12:15f.”
  Then we have the negative adverb OUK with the third person singular present active indicative from the verb EIMI, meaning “it is not.”

The present tense is an aoristic present for a statement of fact without reference to its progress.


The active voice indicates that this situation produces the action of not being the reason for the foot being a lesser part of the body.


The indicative mood is declarative for a simple statement of fact.

Finally, we have the preposition EK plus the partitive ablative from the neuter singular article and noun SWMA, which means “a part of the body.”

“it is definitely not for this reason any the less a part of the body, is it?”
1 Cor 12:16 corrected translation
“And if the ear should say, ‘Because I am not an eye, I am not a part of the body,’ it is definitely not for this reason any the less a part of the body, is it?”
Explanation:
1.  “And if the ear should say, ‘Because I am not an eye, I am not a part of the body,’”

a.  Paul continues with analogy from the body.  Why wasn’t the last analogy enough?  Certainly he has made his point.  So why add an additional analogy?


b.  After thinking about his first analogy, which was accurate and made his point, Paul realized that some of the Corinthians might argue the point that there were lots of people without a hand or foot, who got along just fine in life, and didn’t really need those parts of their body to live.


c.  So Paul adds another more severe problem in life—the loss of one’s eyesight—to take that argument away from his critics.


d.  The ear is related to mental activity; for what we hear is immediately processed by our thinking.  But there are people who get along fine in life without their hearing.


e.  So Paul relates his comparison to the eye, which, if we had to give up a part of our bodies, this is the one part we would give up last.


f.  The eye is analogous to a highly visible spectacular spiritual gift, such as, healing, miracles, speaking in tongues.


g.  Again we have the arrogance of self-pity demonstrated by Mr. Ear, who thinks he is a less important believer in God’s plan because he doesn’t have as good a spiritual gift as Mr. Eye.

2.  “it is definitely not for this reason any the less a part of the body, is it?”

a.  Just as in the previous verse, all the same arguments and explanations apply here.


b.  This phrase is identical in the Greek to the previous phrase in the last verse.


c.  Again this is a rhetorical question with the strongest possible double negative, which answers itself, “Of course not.”


d.  Again Paul is pointing out emphatically that every believer in the Corinthian church was a part of the body of Christ, part of the royal family of God.


e.  Again Paul is emphasizing the fact that every member of the body of Christ is significant and important to our Lord Jesus Christ, because there is no partiality with God.

�  Bauer, Walter, Gingrich, F. Wilbur, and Danker, Frederick W., A Greek-English Lexicon of the New Testament and Other Early Christian Literature, (Chicago: University of Chicago Press) 1979.
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